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0��	� �
	 	�	�� ����	� �	��� �� � ���	 �����	 Vn+1
t−→ R� ,	 �	���� �
	 N th *	� �����	

jN (Vn+1) �� �� �5�	 ��������	 
� �
	 ���� *	� j1(jN−1(Vn+1))
��
� -� �
�� ,��� ��� ��
��	�

���
����� � ���������� �	�	����� 
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	 �	�������	� 
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	�	��3�
-� �
	 ���	 
� � �
�7�	�	�	���	 ���������� L(t, qk, q̇k, q̈k, . . .)� �
	 ���
���
� ����� 
�� �
������� �
��	�� 
� 8�
��	 ����	9� ��	�������� �� ,��
 � ��������
�� S 
� �
	 �
����� �����	

�	� jN (Vn+1)� �����	�� �	�	����	� �� �
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���� ���
����	� ,��
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	 �	������� 	����
��	��� �
	 ���
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-� �
�� �	���
�� ,	 ���	/� �	��	, �
	 �	
�	������ �	��� �
� �
�������	� �������
��� ��������

�����	� �� �� 6
	 ����� 	����
��	�� �� � (n+1)7���	���
��� 	�	�� ����	� �	��� �� � ��	�
�����	 t : Vn+1 → R ��� �	�	��	� �
 �
��� ���	� �

������	� t, q1, . . . , qn �
;�	�� �	���
� γ : R→ Vn+1 � �
����� �	�����	� �� q

i = qi(t)� �� ���	���	�	� �� �� 	�
����
�

� �� �������� ����	� B ,��
 n �	��		� 
� ��		�
�$ �
� �������	� �� B �� � �	�
������ ����	��
�
	 �����
�� Vn+1 �� ��	����	� ,��
 �
	 �����
������ ����	����	 
� B � ��� �
	 ������
�
t : Vn+1 → R ,��
 �
	 ���
���	 ���	 ������
��
6
	 ���� *	� �����	 j1(Vn+1)� �	�	��	� �
 �
��� *	� �

������	� t, q

i, q̇i � �� ����	� �
	 ���	���
����	� ;�	�� �	���
� γ : R→ Vn+1 ������ � �
��	��
����� ���� j1(γ) : R→ j1(Vn+1)� �
�����

	.��	��	� �� qi = qi(t), q̇i =
dqi

dt
�

6
	 ��	�	��	 
� �
�7

�
�
��� �
��������� �� ���
���	� �
� �
�
��
 �
	 �������	�� 
� �
��������
�� i : A → j1(Vn+1) ���	� 
�	� Vn+1� �� �	�����	� �� �
	 �
��������	 �������

A i−−−−→ j1(Vn+1)

π

⏐⏐�
⏐⏐�π

Vn+1 Vn+1

2<3

1	�	����� A �
 �
��� ��	�	� �

������	� t, qi, zA 2A = 1, . . . , r < n3� �
	 	��	�����
i : A → j1(Vn+1) �� �
����� �	��	�	��	� ��

q̇i = ψi(t, q1, . . . , qn, z1, . . . , zr) 2'3

,��
 rank
∥∥ ∂ψi

∂zA

∥∥ = r �

! �	���
� γ : R→ Vn+1 �� ����	� �
�������	 �� ��� 
��� �� �
	�	 	.���� � �	���
� γ̂ : R→ A
���������� j1(γ) = i · γ̂ � ! �	���
� γ̂ : R → A �� ��������� ����	� ���������	 �� ��� 
��� ��
i·γ̂ = j1(π ·γ̂)� -� �

������	�� �� γ̂ �� �	��	�	��	� �� qi = qi(t), zA = zA(t)� �
	 �������������
�
�����
� �� �������=	� ���
 �
	 ����	� 
� ���� 
��	� �4;��

dqi

dt
= ψi(t, q1(t), . . . , qn(t), z1(t), . . . , zr(t)) 2>3

6
	 �	
�	��� 
� �
	 ��������
�� A 
�� �		� 	.�	����	�� �����	� �� �
	 �
��	.� 
� �
�7


�
�
��� �	�
����� 2�		� ��
�� 
�
	�������� ��� �	�	�	��	� �
	�	��3� ?
� �
	 ��	�	��
����
�	�� ,	 �	���� �
	 �
��	�� 
� ������� �
�
�	 π : C(A) → A� �	��� �� �
	 �	��
�
���������	 
� �
	 �
����	�� ����	 T ∗(A) �
����� �����	� �� �
	 �
����� 1��
���

ωi := dqi − ψi(t, qk, zA) dt 2%3

!�
����� �
	 �
����
� V (Vn+1) ⊂ T (Vn+1) �
� �
	 �	������ �����	 �	�����	 �
 �
	 ������
�

Vn+1
t−→ R ��� V ∗(Vn+1) �
� �
	 ���
����	� ���� �����	� �
��
��� �	�	��	� �
 �� �
	 ����	

����	� �
	 �
����� �����	 �� ���
������� ��
�
��
�� �
 �
	 ���	� ��
���� A×Vn+1V
∗(Vn+1)�

������ ���	 �
 �
	 ���	� �
��
���

C(A) π−−−−→ V ∗(Vn+1)

π

⏐⏐� ⏐⏐�π

A −−−−→
π

Vn+1

2&3

@	 �	�	� C(A) �
 ���	� �

������	� t, qi, zA, pi � �	��	� ���
����� �
 �
	 ��	��������
�
σ = pi(σ)ω

i
|π(σ) ∀σ ∈ C(A)�



>

!� ���
����� �	
�	������ ��������	 
� �
	 �
����� �����	 �� ��� ���
����	 1����� Θ� �
�����
	.��	��	� ����

Θ := pi ω
i = pi

[
dqi − ψi

(
t, qk, zA

)
dt
]

2A3

6
	 �	
�	������ ����	,
�� 
�����	� ��
�	 ��
���	� �
	 ���
	������� �	����� �
� �� ���
������� �
�������
� 
� �
�������	� �������
��� ��������� 6
 �
�� 	��� ,	 �
����	� �� ����
�
������
��� 
� �
	 �
��

I [γ] :=
∫
γ̂

Ldt =

∫ t1

t0

L(t, qi(t), zA(t)) dt 2B3

��������� �
 	��
 ���������	 �	���
� γ : R→ Vn+1 � �
��	��
����� 8�
��9� 	.��	��	� �� �
	
���	���� 
� � ���������� �
������ L(t, qi, zA) ∈ F(A) ��
�� �
	 ���� γ̂ : R→ A� 6
	 ��� ��
�������� �
	 2�
���3 	.��	���� 
� �
	 ������
��� 2B3 ,��
 �	��	�� �
 ���������	 �	�
�����
��

� γ �	����� �
	 	���
���� γ(t0), γ(t1) �.	��
6
	 �	���� ��� �	 ��
�	�	� 
��	����� �
��� ���	� �	�� �	�	��� ��������
��� �
	 
�������

��
��	� �� ���
	��������� 	������	�� �
 � ��		 �������
��� ��
��	� 
� �
	 �
����� �����	�
6
	 ��
�	���	� 
�����	� �� �� �	��	� 
� �
	 ���� �
��� �� �	��� 
� �
	 ��
�����	 1��
�� 2A3�

	�	�� ���������� L(t, qi, zA) ∈ F(A) ��� �	 ����	� �
 � 1��
�� ϑL 
�	� C(A) ���
����� �

�
	 ��	�������
�

ϑL := Ldt+Θ = (L − piψi) dt + pidq
i := −H dt + pidq

i 2C3

6
	 ������
� H(t, qk, zA, pk) = pi ψ
i(t, qk, zA) − L(t, qk, zA) ∈ F(C(A)) �� ��
,� �� �
	

���	�����	 �� �
	 ���������� ������������ D� �	��� 
� �
	 17�
�� 2C3� �
 	��
 �	���
�
γ̄ : [t0, t1]→ C(A)� 	.��	��	� �� �

������	� �� qi = qi(t), zA = zA(t), pi = pi(t))� ,	 ������
�
	 ����
� ������
���

Ī [γ̄] :=
∫
γ̄

ϑL =

∫ t1

t0

[
L(t, qk(t), zA(t)) + pi(t)

(
dqi

dt
− ψi(t, qk(t), zA(t))

)]
dt 2E3

6
	 �	������� �	��� �� ��
�	�� �	���	� �
 �
	 
������� 
�	� ���	� 
� �
	 ������
��� 2B3 ���

� �
	 �
��������� 2>3� -� ����� �	�
���� �� ν : C(A) → Vn+1 �
	 �
��
���	 ��
*	���
�
C(A) → A → Vn+1 � �� ����� 
�� �
�� 	�	�� 8
�������9 	.��	��� 
� �
	 
������� ��
��	�
�� �
	 ��
*	���
� γ = ν · γ̄ 
� � �
����
� 
� �
	 ��		 �������
��� ��
��	� ���	� 
� �
	
������
��� 2E3�
� �
�	 ��	��������� �
	 �	����	�	�� 
� �����
������ 
� �
	 ����
� ���	���� 2E3
���	� ��������� �	�
�����
�� �	����� �
	 ��
*	���
�� ν(γ̄(t0)), ν(γ̄(t1)) �.	� �	��� �
 2n+r
	�����
��

dqi

dt
= ψi(t, qk, zA) =

∂H
∂pi

2<(�3

dpi
dt

=
∂L

∂qi
− pk ∂ψ

k

∂qi
= − ∂H

∂qi
2<(�3

pi
∂ψi

∂zA
− ∂L

∂zA
=

∂H
∂zA

= 0 2<(�3

�
� �
	 ����
,�� qi(t), zA(t), pi(t)� ��	������ �
 �
	 ���������� 	�
���������� ���
��	� ��
�
	 ����� 
� �
	 �
�������	� ������
��� 2B3�
-� 
��	� �
 ,
�� 
�� �
	 �
��	�� 
� �
	 ����	� 2<(3� �� �� �
��	��	�� �
 ����� ,��
 	�� 2<(�3�

6
	 ����	� ��	����	� � ����	� 
� C(A)� 
	��	�
��
 �	�
�	� �� S � 6
	 ������
���� H ��
����	� �	�
��� �� ��� 
��� �� �
	 �
�����
�

det

(
∂ 2H

∂zA∂zB

)
σ

�= 0 2<<3
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��� �
� ��� σ ∈ S � @
	� �
�� �� �
	 ���	� 	��� 2<(�3 ��� �	 �����	�� �
��	� �
� �
	
�������	� zA� ������ ���	 �
 � �	��	�	�����
� 
� �
	 �
��

zA = zA(t, qi, pi) 2<'3

F��	� �
	 ����	� ��������
�� �
	 ����	� S �� �
	�	�
�	 � (2n+1)7���	���
��� ��������
��
i : S → C(A)� �
����� ��G	
�
��
�� �
 �
	 �
��	 ����	 V ∗(Vn+1)�
6
	 ����7���� H := i∗(H) 
� �
	  
�������� ������
����� 	.��	��	� �� �

������	� ��

H(t, qi, pi) = ph ψ
h(t, qi, zA(t, qk, pk)) − L(t, qi, zA(t, qk, pk)) 2<>3

��	��� � ��
�	� ������
���� ������
� 
� S � 6
�
��
 �
	 ����	�� 	��� 2<(�3� 2<(�3 ���
�	 ,����	� �� 
������� ������
� 	�����
��� �� ���
��� 
� 	��� 2<(�3 ,	 
��	 �� ���� �
	
��	��������
��

∂H

∂pi
=

∂H
∂pi

= ψi 2<%�3

∂H

∂qi
=

∂H
∂qi

= pk
∂ψk

∂qi
− ∂L

∂qi
2<%�3

���
,��� �
 ���� 	��� 2<(�3� 2<(�3 ���
 �
	 �
��

dqi

dt
=

∂H

∂pi
2<&�3

dpi
dt

= − ∂H

∂qi
2<&�3

6
	 
������� �
�������	� �������
��� ��
��	� �� �
�� �	���	� �
 � ��		 ������
����
��
��	� �� �
	 ��������
�� S� ,��
 ������
���� H(t, qi, pi) ��	������ �
 �
	 ����7����

H = i∗(H)�

���� ��� �
�������
�� ���	����� ��
�
����

-� �
�� �	���
�� ,	 ��	�	�� � �	��������
� 
� ����
��������� �
��������
� 
� � ������
�
���� �	��� �
� �
�7�	�	�	���	 ����������� �	�	����� 
� 
��
	� 
��	� �	�������	� 
� �
	
�
��������
� �������	����� 6
	 ��	� �� �	������� ��� ���
 ���������� �� � ������
� 
� �
��������
�� 
� � �������	 ���	��� ����	� �
	�	�� �	������ �
	 
������� ��
��	� �
 � �
��
������	� 
�	� 
� �
	 ���� �	�����	� �� �
	 #	���
� --� !� ,	 �
��� �		� �
�� ,��� �	���� ���
 �
�	��7�
�����	�� ���	���	����
� 
� ����
��������� �
������� �� �
�	�� �	
�	������ �	����
?
� �
	 ���	 
� ����������� ��� �
 �	��	� ������� �
	 ����� ��	�� ��� �
����
��� ,	 �
��� ����

�
����	� ����������� 
� 
��	� 2 �� �
	 �	�������	�� 6
	 ��
�	���	 ,��� �
	� �	 	.�	��	� �


��
	� 
��	� ������������

�� ����������� �� ����� � �� � � ����!���!��

0��	� � ���������� 
� �
	 �
�� L(t, qi, q̇ i, q̈ i)� �
	 �
��	��
����� ;��	�7�������	 	����
��
�� �	��

∂L

∂qi
− d

dt

∂L

∂q̇ i
+

d2

dt2
∂L

∂q̈ i
= 0, i = 1, . . . , n 2<A3

!������� �
	 �������� 
� �
���	�	�	���� �
�����
� det
∥∥∥ ∂ 2L
∂q̈ i∂q̈j

∥∥∥ �= 0� �
	 ����
�������

��
�	���	 �	��	� 
� ��
����� �
	 ������
��

qi, q̇ i, p0i :=
∂L

∂q̇ i
− d

dt

∂L

∂q̈ i
, p1i :=

∂L

∂q̈ i
2<B3



&

�� �

������	� �� � (4n + 1)7���	���
��� ����	 ����	� ,��
 p0i ��� p
1
i ������� �
	 �
�	 
�

���
����� �
�	��� �	��	����	�� �
�*����	 �
 �
	 �������	� qi ��� q̇ i�
F��	� �
	 ����	� �
���	�	�	���� �
�����
�� �
	 ���� �	� 
� 	�����
�� 2<B3 ��� �	 �
��	�

�
� �
	 ����
,�� q̈ i� ������ ���	 �
 � �	��	�	�����
� 
� �
	 �
��

q̈ i = q̈ i
(
t, qk, q̇k, p1k

)
2<C3

-� �
�� ,��� ����
������ �
	 ��������
��� �����������

H := p0i q̇
i + p1i q̈

i − L, 2<E3

	.��	��	� �� �	��� 
� �
	 �������	� qi, q̇ i, p0i , p
1
i �
�
��
 	��� 2<C3� � ������
��
�,��� ������

����
� ��	��� �
	 �	����
��

∂H

∂p0i
= q̇ i,

∂H

∂p1i
= q̈ i,

∂H

∂qi
= − ∂L

∂qi
,

∂H

∂q̇ i
= p0i −

∂L

∂q̇ i

-� ��	, 
� �
	�	� �
	 �
��	�� 
� 	��� 2<A3� 2<B3 ��� �	 ���� ���
 �
	 ������
���� �
��

dqi

dt
= q̇ i =

∂H

∂p0i
,

dq̇ i

dt
= q̈ i =

∂H

∂p1i
2'(�3

dp0i
dt

=
d

dt

∂L

∂q̇ i
− d2

dt2
∂L

∂q̈ i
=

∂L

∂qi
= − ∂H

∂qi
,

dp1i
dt

=
d

dt

∂L

∂q̈ i
=

∂L

∂q̇ i
− p0i = − ∂H

∂q̇ i
2'(�3

6
 ������� �
	 �	
�	������ �	����� 
� �
	 ����
������� ��
�	���	� ,	 �
��� 
� �
	 ��	�
�����	 Vn+1 → R ��� 
� �
	 ���
����	� ���� *	� �����	� ?
� �	��
�� �
�� ,��� �	 ��	��
�

�� ,	 �
���	 �
	 �
����
� j1(Vn+1) ���
 Q� qi ���
 qi0� q̇ i ���
 qi1� ��� �	���� �
	 �����	
t : Q→ R� �	�	��	� �
 �
��� �

������	� t, qiα, α = 0, 1 �� 
�� �	, 	�	�� ����	�

D� ��� �	�� �	�����
�� �
	 �	�
�� *	� �����	 j2(Vn+1) �� �
	� ���
������� ��
�
��
�� �

�� �5�	 ��������	 
� �
	 ���� *	� �����	 j1(Q)� �� 	.��	��	� �� �
	 �
��������	 �������
2�		 	�����
� 
� ���
�	 �
� �
	 ���	7���	�	��	�� ���	3

j2(Vn+1)
i−−−−→ j1(Q)

π

⏐⏐� ⏐⏐�π

Q Q

2'<3

1	�	����� j1(Q) �
 *	� �

������	� t, qiα , q̇iα � �
	 ����	 i(j2(Vn+1)) ⊂ j1(Q)� 
	��	�
��

�	�
�	� �� A� �� �
����� �	�����	� �� �
	 	�����
�� q̇i0 = qi1 � @	 ��� �
	�	�
�	 �	�	� A
�
 �
��� ���	� �

������	� t, qiα, z

i� ��� �	��	�	�� �
	 ���	����� A → j1(Q) �
�
��
 �
	
	�����
�� 2����
�
�� �
 	��� 2'33

q̇iα = ψi
α(t, q

i
0, q

i
1, z

i), 2''3

,��
 ψi
0 = qi1 ��� ψi

1 = zi � !��	������	��� ,	 ��� �	���� A �� � ��	� �����	 
�	� Vn+1 �
�	���	� �
 j2(Vn+1) �� �
	 ���	� ��
�
��
��� (t, qi0, q

i
1, z

i)←→ (t, qi, q̇ i, q̈ i)�
#������ ��� ,	 �
�����	 �
�� ��������� � �������
��� ��
��	� �� Vn+1 � ���	� 
� �

���������� L(t, qi, q̇ i, q̈ i) ∈ F(j2(Vn+1))� �� 	������	�� �
 ��������� � �
�������	� ������

��
��� ��
��	� �� Q� ,��
 �
�������� ��������
�� A → j1(Q) �	�����	� �� 	��� 2''3 ���
���������� L(t, qiα, z

i) ∈ F(A)�
-� �
	 �	�	�������
� 
� �
	 	.��	����� ,	 ��� �
, ��
�		� ��
�� �
	 ���	� �������	� ��

#	���
� --� 6
 �
�� 	��� ,	 �
����	� 
��	 ����� �
	 �
����� �����	 C(A) 
�	� A� ��� �	�
�	
�� ν : C(A) → Q �
	 �
��
���	 ��
*	���
� C(A) → A → Q� ��� �� t, qiα, zi, pαi �
	 �
���
�

������	� 
� C(A) �	��	� �� �
	 ��	�������
�

σ = pαi (σ)
(
dqiα − ψi

αdt
)
|π(σ) ∀σ ∈ C(A) 2'>3



A

�
	 �������
� �
��	���
� �	��� 
	��	�
��
 	.�	��	� �
 ��� ���	 
� �����	��
#������� ,��
 �
	 ���������� L(t, qiα, z

i) ∈ F(A)� ,	 �
	� �
������� �
	 1��
��

ϑL = Ldt + pαi
(
dqiα − ψi

αdt
)
= −H dt + pαi dq

i
α ∈ C(A)

,��


H(t, qiα, zi, pαi ) = pαi ψ
i
α − L(t, qiα, z

i) = p0i q
i
1 + p1i z

i − L(t, qiα, zi) 2'%3

�	�
���� �
	  
�������� ������
�����

;�	�������� ,	 ������ �
 	��
 �	���
� γ̄ : [t0, t1]→ C(A) �
	 ����
� ������
���

Ī [γ̄] :=
∫
γ̄

ϑL =

∫ t1

t0

(
−H(t, qiα, zi, pαi ) + pαi

dqiα
dt

)
dt

6
	 �	��	�� 
� �����
������ 
� �
	 ����	� ���	� ��������� �	�
�����
�� �	����� �
	 �
����
ν(γ̄(t0))� ν(γ̄(t1)) �.	� �	��� �
 �
	  
�������� 	�����
��

dq iα
dt

=
∂H
∂pαi

,
dpαi
dt

= − ∂H
∂q iα

2'&�3

∂H
∂zi

= p1i −
∂L

∂zi
= 0 2'&�3

�
� �
	 ����
,�� q iα(t), z
i(t), pαi (t)� 6
	�	 ��	 �
	 ��	���	 ����
��	 
� 	��� 2<(3 �
� �
	 ���	

�� ������ -� ����������� 	��� 2'&�3 �	��
���	 �
	 �
��	�� 
� �
	 ���� �	� 
� 	��� 2<B3 ���	�

�
	 �
��
��� (t, qi0, q
i
1, z

i)←→ (t, qi, q̇ i, q̈ i)�

4	�
���� �� S �
	 ����	� 
� C(A) �	�����	� �� 	��� 2'&�3 ��� ������ 	�� 2'%3 ���
 ���
����
�� �� �	����� �		� �
�� �
	 �
�7�	�	�	���� �
�����
� det

∥∥∥ ∂ 2L
∂q̈ i∂q̈ j

∥∥∥ �= 0� 
	�	 �	�
���	� ��

det
∥∥∥ ∂ 2L
∂zi∂zj

∥∥∥ �= 0� ���
��������� 	����	� �
	 �	�������� 
� �
	  
�������� ������
���� 2'%3�

@	 ��� �
	�	�
�	 �
��	 	��� 2'&�3 �
� �
	 �������	� zi� �	����� �� 	.��	���
� 
� �
	 �
��

zi = zi(t, qkα, p
1
k) 2'A3

�
������ ��	������ �
 	�� 2<C3
;.����� �� �� 
���	�	� �� #	���
� --� 	�� 2'A3 ���
,� �
 �	���� S �� � ��������
��

S i−→ C(A)� �
����� ��G	
�
��
�� �
 �
	 �
��	 ����	 V ∗(Q)� -� ��	, 
� 	��� 2<B3� 2'&�3� �
	

���� ���� 
� �
	  
�������� ������
���� 2'%3 �
 �
	 ��������
�� S ��	��� �
	 ������
�

H(t, qiα , p
α
i ) := p0i q

i
1 + p1i z

i(t, qkα, p
1
k) − L(t, qiα , z

i(t, qkα, p
1
k))

��	������ �
 �
	 ����
������� ������
���� 2<E3 ��� ���������� �
	 �	����
��

∂H

∂pαi
=

∂H
∂pαi

,
∂H

∂q iα
=

∂H
∂q iα

�� ���
��� 
� �
	 ����	�� 	��� 2'&�3 ��� �	 ���� ���
 �
	 ���
����� ������
���� �
��

dq i0
dt

=
∂H

∂p0i
,

dq i1
dt

=
∂H

∂p1i

dp0i
dt

= − ∂H
∂q i0

,
dp1i
dt

= − ∂H
∂q i1

�	��
������ �
	 �
��	�� 
� �
	 ����
������� 	�����
�� 2'(3�



B

"� ����������� �� ����� � �� � � ����!���!��

6
	 ����
������� �
��������
� �� 	����� 	.�	��	� �
 ����������� �	�	����� 
� 
��
	�

��	� �	�������	�� 6
 �
�� 	��� �	� jN (Vn+1) �	�
�	 �
	 N

th *	�7�����	 
� �
	 	�	�� ����	�
�	�	��	� �
 ���	� �

������	� t, qi, qi1, . . . , q

i
N � #	����� q

i
0 = qi � �
	 ;��	�7�������	 	����

��
�� ���
����	� ,��
 � ���������� L(t, qi, qi1, . . . , q
i
N ) ��	 ����
	������� ,����	� ��

N∑
α=0

(−1)α dα

dtα
∂L

∂qiα
= 0, i = 1, . . . , n 2'B3

?
� 	��
 α = 0, . . . , N − 1� �	� �
	 ���
����� �
�	���� pαi �
�*����	 �
 �
	 �

������	 qiα
�	 �	��	� ���
����� �
 �
	 ��	�������
�

pαi :=

N−1∑
β=α

(−1)β−α dβ−α

dtβ−α

∂L

∂qiβ+1

2'C3

,
	��	� �� ����������

pN−1
i :=

∂L

∂qiN
(t, qi, qi1, . . . , q

i
N ) 2'C�3

6
	 �������	� t, qiα , p
α
i , α = 0, . . . , N − 1 ��	 �	����	� �� �

������	� �� � (2nN + 1)7

���	���
��� ����	 ����	�

F��	� �
	 �
���	�	�	���� ��������
� det
∥∥∥ ∂ 2L

∂q iN ∂q
j
N

∥∥∥ �= 0� 	��� 2'C�3 ��� �	 �
��	� �
�

qiN � ������ ���	 �
 	.��	���
�� 
� �
	 �
��

qiN = qiN (t, qk0 , . . . , q
k
N−1, p

N−1
k ) 2'E3

6
	 ����
������� ������
���� �� �
	� �	��	� ��

H(t, qi0, . . . , q
i
N−1 , p

0
i , . . . , p

N−1
i ) :=

N−1∑
α=0

pαi q
i
α+1 − L(t, qi0, . . . , qiN−1, q

i
N ) 2>(3

,��
 qiN ���	� �� 	�� 2'E3� -� �
�� ,��� ������ 	��� 2'C�3 ���
 ���
���� �
	 ������
� 	�����
��
�	�	���	� �� �
	 ������
���� 2>(3 ��	 	����� �	�
���=	� �
 �	

dqiα
dt

=
∂H

∂pαi
= qiα+1 (α = 0, . . . , N − 2), 2><�3

dqiN−1

dt
=

∂H

∂pN−1
i

= qiN
(
t, qk0 , . . . , q

k
N−1, p

N−1
k

)
2><�3

dp0i
dt

= − ∂H
∂qi0

=
∂L

∂qi0
,

dpαi
dt

= − ∂H
∂qiα

= −pα−1
i +

∂L

∂qiα
(α = 2, . . . , N) 2><�3

"
��	��	��� � ������
��
�,��� �
	�� �

,� �
�� 	��� 2><�3� �
�	�
	� ,��
 	��� 2'C�3� �����
�
	 �������� 
� �
	 ;��	�7�������	 	�����
�� 2'B3�
! �		�	� �����
� ���
 �
	 �	
�	������ �	����� 
� 	��� 2'C3� 2>(3 �� ����	� �	�
���� ��
Q := jN−1(Vn+1) �
	 (N−1)th *	� �����	 
� �
	 ������
� t : Vn+1 → R� �	����	� �� � ���	
�����	 t : Q → R� ��� �� j1(Q) �
	 �
��	��
����� ���� *	� �����	�
6
	 N th *	� �����	 jN (Vn+1) �� �
	� ���
������� ��
�
��
�� �
 �� �5�	 ��������	 
�

j1(Q)� �� �������=	� ���
 �
	 �
��������	 �������

jN (Vn+1)
i−−−−→ j1(Q)

π

⏐⏐� ⏐⏐�π

Q Q



C

!�
����� t, qiα , (α = 0, . . . , N − 1) �� �
��� �

������	� �� Q� ��� �	�	����� j1(Q) �
 *	�
�

������	� t, qiα, q̇

i
α � �
	 ��������
�� A := i(jN (Vn+1)) ⊂ j1(Q) �� �
����� �	�����	� �� �
	

	�����
�� q̇iα = qiα+1 � α = 0, . . . , N−2� @	 ��� �
	�	�
�	 �	�	� A �
 �
��� ���	� �

������	�

t, qi0, . . . , q
i
N−1, z

i � ��� �	��	�	�� �
	 ���	����� A → j1(Q) �
�
��
 �
	 	�����
��

q̇iα = ψi
α(t, q

i
0, . . . , q

i
N−1, z

i) , α = 0, . . . , N − 1 2>'3

,��
 ψi
α = qiα+1 � α = 0, . . . , N − 2� ��� ψi

N−1 = zi�
!��	������	��� ,	 ��� �	���� A �� � ��	� �����	 
�	� Vn+1 � ��
�
��
�� �
 jN (Vn+1)

�
�
��
 �
	 ���	� �
��
��� (t, qi0, . . . , q
i
N−1, z

i)←→ (t, qi0, . . . , q
i
N−1 , q

i
N )�

���	 ������ �
��	����� ��� �	������ ,	 �
�����	 �
�� ��������� � �������
��� ��
��	� ��
Vn+1 � ���	� 
� � ���������� L(t, q

i
0, , . . . , q

i
N ) ∈ F(jN (Vn+1))� �� 	������	�� �
 ��������� �

�
�������	� �������
��� ��
��	� �� Q� ,��
 �
�������� ��������
�� A → j1(Q) �	�����	�
�� 	��� 2>'3 ��� ���������� L(t, qi0, . . . , q

i
N−1, z

i) ∈ F(A)�
6
	 �
�������	� ��
��	� �� Q ��� �
	� �	 ����	� �
 � ��		 �������
��� ��
��	� 
� �
	

�
����� �����	 C(A)� �	�	��	� �
 ���	� �

������	� t, qiα, zi, pαi � α = 0, . . . , N − 1� 6
	
��
�	���	� ��	������ �
 �
	 
�	 	.��
��	� �� #	��� --- !� ��������	� �� �
	 ����
�����
� 
�
�
	  
�������� ������
����

H(t, qiα, zi, pαi ) =
N−1∑
α=0

pαi ψ
i
α − L(t, qiα, z

i) =

=

N−2∑
α=0

pαi q
i
α+1 + pN−1

i zi − L(t, qi, . . . , qiN−1, z
i) 2>>3

 �	�	����� �
	 �
����
� C(A) ν−→ Q �
� �
	 �
��
���	 ��� C(A) → A → Q� �
 	��

�	���
� γ̄ : [t0, t1]→ C(A) ,	 �
, ������ �
	 ����
� ������
���

Ī [γ̄] :=
∫
γ̄

−H dt +
N−1∑
α=0

pαi dq
i
α =

∫ t1

t0

(
−H +

N−1∑
α=0

pαi
dqiα
dt

)
dt

-��
���� �����
������ 
� �
	 ����	� ���	� ��������� �	�
�����
�� �	����� �
	 ��
*	���
��
ν(γ̄(t0))� ν(γ̄(t1)) �.	� �	��� �
 �
	  
�������� 	�����
��

dq iα
dt

=
∂H
∂pαi

,
dpαi
dt

= − ∂H
∂q iα

2>%�3

∂H
∂zi

= pN−1
i − ∂L

∂zi
= 0 2>%�3

�
� �
	 ����
,�� q iα(t), z
i(t), pαi (t)� ;��� 2>%�3 �	��
���	 �
	 �
��	�� 
� 	��� 2'C�3 ���	�

�
	 �
��
��� (t, qi0, . . . , q
i
N−1, z

i)←→ (t, qi0, . . . , q
i
N−1 , q

i
N )�

4	�
���� �� S �
	 ����	� 
� C(A) �	�����	� �� 	��� 2>%�3� �� �� �	����� �		� �
�� �
	 �
�7
�	�	�	���� �
�����
�

∥∥∥ ∂ 2L

∂qiN ∂q
j
N

∥∥∥ �= 0� 
	�	 �	�
���	� �� det
∥∥∥ ∂ 2L
∂zi∂zj

∥∥∥ �= 0� ���
���������

	����	� �
	 �	�������� 
� �
	  
�������� ������
���� 2>>3� @	 ��� �
	�	�
�	 �
��	 	��� 2>%�3
�
� �
	 �������	� zi� �	����� �
	 	.��	���
�

zi = zi (t, qk0 , . . . , q
k
N−1, p

N−1
k ) 2>&3

�
������ ��	������ �
 	�� 2'E3�
;��� 2>&3 �
��� 
�� �
�� �
	 ����	� S ⊂ C(A) �� �� ���� � �
��������
 i : S → C(A)�

�
����� ��G	
�
��
�� �
 �
	 �
��	 ����	 V ∗(Q)� ! ������
��
�,��� �
	�� �

,� �
�� �
	
���� ���� H := i∗(H) 
� �
	  
�������� ������
���� 2>>3 �	�	����	� � ��
�	� ������
����
������
� 
� V ∗(Q)� ��	������ �
 �
	 ����
������� ������
���� 2>(3� ��� �
�� �
	 ������
�
	�����
�� �	�	���	� �� H �
�����	 ,��
 �
	 ����
������� 	�����
�� 2><3�



E

��#����	�


�-� 7
�������
8�3 -�
� 9�� ��� :����
�����3 �� �3 ';% <&;%#=�
�*� :� >������3 ?���� 0���
 :��
� ���3 5#' <$##@=�
	*� :� >������3 ��A	��&%#4�#$$&#�$ <$#&%=�


�� ���� �� ����BB	����3 �� ������	 ��� 9� ���	
	3 *����� *�
� C��� 9
����� 9
������
� �3 4$% <$##'=D
�� :� ���	�	�� ��� E� ������	3 *��� -��� :��
� ��3 5%& <$#&#=D 9� C� ���	�� ��� �� �
� 	8���3 ?	�	��
*��� *��� �	3 ' <$#&#=D �� ����BB	����3 �� )��8�3 �� �� F�	�	
��3 �� �� 0� ?��� ��� +� G� 7�
�3 H�	���
�
�3 ��� $3 &66 <$#&%=D �� 0� 	�	 ��� �� C� 7�	��
��3 :��
� ?���� I 
	�3 & <$##%=�

�C� ?�����	
 ��� F� 0��	3 G�9: �
��3 ��� $3 '5 <$#&4=�
��� G� ����3 -� ��
	����3 �� 9� ?	
 ��� 9� G� ������3 G�9: �	��3 5$ <$#&'=�

G� �� :�

���� ������� �� 	
���

 ���������

 ���
����� 
�� ��� 	���������	�3 +����� ��� I�����
��	���� :���	
���
3 0�� J��83 ?����� <&6@;=�

�C� G� �������
 ��� �������� �� ��� ����
��3 ��
��	��� H�	���
	�� :��

 <&6;6=�
��� -�

�3 C� I����3 +� ?��	� ��� �� :����	3 ���� �� ����� ������� ���� �����3 ��3 &%%##4& <$#&%=�

��?� �� :�������	�3 E� +� I������
8		3 *� E� +�
8���	�B� ��� �� �� -	
�����8�3 ��� �
����
���

 ������
�� �	���

 	��������3 !����
�	����3 0�� J��8 <&64$=�

��-� +	�K�	��� ��� �� )	���������3  

��
�� �� !
��
����� �" �� 3 ���	����.E�����3 I���	� )�	������� 0��
J��8 <$##5=�

���� -�

� ��� �� :����	3 #��� ����� $���� ����
�%3 :��
	K�� ��L��	K��3 

3 &.'4 <&66@=�
�	�� -�

�3 �� E	����� ��� C� I����3 �� ����� #& �
��� ����3 	�3 4@&'.4@5$ <$##$=�
�
�� +���	���� �� �%��%���� ���%������

� �� �%�
����� 
�

������ )��
���3 :��	
 <&646=�
����� 
	
��	�	��3 �� ���
���� ��� 
�
� �����	�� (�� �����	��� �� ���
 �� A ��� (�� ���	� ����M���8 �� C(A)�
����� � ����	
� ��/�	�	�� �( ���	���	��

3 
����


